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Personal Compuers

legitimize

authorize, legalize

dominant

controlling, important

convenience

comfort, ease

cumbersome

uncomfortable

miniaturized

tiny, very small

to take up

occupy

permanent

lasting, invariable

state-of-the-art

modern




Personal Compuers

configuration

formation, structure

dock connect two computers using an electrical
wire
expand grow larger
slot narrow opening
footprint surface area taken by a particular

hardware device

to gain ground

to become more successful




Personal Compuers

courier messenger
stylus light pen
poised to ready to move
Insurance to guarantee safety
tickler to-do list

to distinguish from

differentiate, recognize

souped-up more powerful
crunching chewing
to fall short be less than enough




Personal Compuers

to set apart

separate

precision

exactness, accuracy




Groceries Online

slogan motto, getting phrase used in
advertising
glimpse brief view
virtual computer simulated
pioneer pathfinder
aisle walkway (between rows of seats)
to transmit to send out electronic signals
grab take tightliy and suddenly
cart carriage
fraction part of a whole




Groceries Online

redeem get sth back

hassle inconvenience




Contextual reference

Transitional markers are words used to link ideas together so that the text is
easier to read. When pronouns such as it, they, them, I, he, she, which, who,
whose, that, such, one, and demonstrative adjectives such as this, that, these and
those, are used as transitional markers, they refer to a word, or words,
mentioned earlier in the sentence or paragraph. Their function is to take your
thoughts back to something that has already been mentioned. Other words
which are often used to refer backwards are the former, the latter, the first,
second, etc., the last.

Sample paragraph:

A[ goﬁrﬁnﬂgutelj‘}lke any other machine, is used because/@ioes certain
e Tt

jobs better and more efficiently than humans.[t,can receive more

i

3”1nformatlonl§1nd process\ﬁfaster than any human. The speed at which a

computer works means it can replace weeks or even months of pencil-and-

- Th £, [ t L i
paper work. Therefore| computersjare used when fthe t

0y
Mcosthhch is one of the many reason@ey)ire used so much ln%usmess

C

industry, and research.

Exercise 1 Using the sample paragraph as a model, draw a rectangle around the word, or
words, that the circled words refer to. Then join the O and the [.._Jwith arrows.

Modern accounting firms use spreadsheet software to do complicated

calculations(They)xan provide thg)chents with an up-to-date report
whenever( \1yls neededx@s,software has many functions and can be integrated

e spreadsheet’s basic component is a cell Thisinay

contain a formula(i/;n;:Eperforms a mathematical operation. ( It Jcould also

contain a label or data. Qhe form@descnbes the information on the worksheet.

( Tho l_attqr)is the information itself.

~
The worksheet is the basic work area of a spreadsheet program.'\[ﬂis made up of

cells arranged in rows and columns. The number oaries depending on

the software you are using. You can change the width and format of cells.@@

11



Exercise 2

12
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Using the line reference given, look back at the reading passage in Unit 1, page
6, and find the reference for the words in italics.

anyone can make them (line 25)

the ideas that they put (line 34)

This was a graphical interface (line 37)
it became the standard machine (line 44)

these are operating systems (hue 50)

UICOU Al U UVpwi Giulllg Uy ou
it has become a minor player (line 68)
(line 76)

r cr
Lic cvit 1 .
this could be upgraded lme 7



The American Heritage Dictionary Pronunciation Key

EXAMPLES

pat

pay

care

father

bib

church
deed, milled
pet

bee

fife, phase, rough

gag
hat

which

pit

pie, by

pier

judge

kick, cat, pique
lid, needle 1
mum

no, suddenl
thing

pot

toe

caught, paw, for, horrid,

hoarse 2
noise

took

AHD
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EXAMPLES
boot
out
pop
roar
sauce
ship, dish
tight, stopped
thin
this
cut
urge, term, firm, word, heard
valve
with
yes
zebra, xylem
vision, pleasure, garage
about, item, edible, gallop, circus
butter

FOREIGN

French feu, German schén
French oeuf, German zwolf

French tu, German Uber

German ich, German ach, Scottish

loch

French bon (bo™) 3

AHD
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AHD

Note 1. In English the consonants | and n often constitute compl ete syllables by themselves.



Note 2. Regional pronunciations of -or- vary.In pairs such asfor, four; horse, hoar se; and
mor ning, mour ning, the vowel varies between (6) and (). In this Dictionary these vowels
are represented as follows: for (for), four (for, f 7r); horse (hérs), hoar se (hérs, hers); and
mor ning (mor” ning), mour ning (mdr”ning, m2r”"-).Other words for which both forms are
shown include mor e, glory, and borne. A similar variant occurs in words such as cor al,
forest, and horrid, where the pronunciation of o beforer varies between (6) and (Z).In
these words the (6r) pronunciation is given first: forest (for’ist, f&r'-).

Note 3. The Dictionary uses Mto reflect that the preceding vowe is nasalized. In French
four nasalized vowels occur, asin the phrase un bon vin blanc: AHD (e bo™ vEN plal)

The American Heritage® Dictionary of the English Language, Fourth Edition. Copyright © 2000 by Houghton Mifflin Company. Published by the
Houghton Mifflin Company. All rights reserved.
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Putting Word Processing to Work

versatile multi-purpose
form letter standard letter that is sent to a number of
people
boilerplate standard text
accumulate gather, collect
eventually finally, in the end
will who you want your money and property to
be given to after you die
uncontested without opposition
bankruptcy state of being unable to pay back debts
estate everything that is left after one dies




Putting Word Processing to Work

to observe study; monitor, supervise

to opt choose

retrieve bring back, fetch

wealth a large amount of money, property
essentially basically, mainly




S
E-Mail Etiquette
Etiquette the formal rules for polite behaviour
paycheck check that is given as a salary
payment
effective successful
vocal pertaining to the voice
Inflection change in tone of the voice

embarrassing

confusing, cause anxiety

tenent/ tenet

principle belief

conclude

finish
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When you are reading, you will come across unfamiliar words. It is often
possible to guess the meanings of these words if you understand the way words

<y L Tl

in English are generally forme
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lish m_zgrd c.a be divided into three a prefix, a stem, and a suffix.
refix, therefore is hatc omes before the stem. Consider,

as an example, the prefix de- (meaning ‘reduce’ or ‘reverse’) in a word like
demagnetize (meanl ‘to deprive of magnetism’). A suffix is what is attached
to the end of the stem. Consider, as an example, the suffix -er (meaning

‘someone who') in programmer (‘a person who programs’).

Suffixes change the word from one part of speech to another. For example -ly
added to the adjective quick gives the adverb quickly. Prefixes, on the other
hand, usually change the meaning of the word. For example, un- changes a
word to the negative. Unmagnetizable means ‘not capable of being

magnetized’.

Let us now consider some prefixes, their usual meanings, and how they change
the meanings of English words.

[DRLWASES § l‘ S UL 2

Prefixes

[ | | |
Negative Size Location Time and Number
and positive order
un- semi- inter- pre- mono-
non- mini- super- ante- bi-
in- micro- trans- fore- hex-
dis- ex- post- oct-
re- extra- multi-

peri-




Exercise 1

—

Study these tables. Try to find additional examples, using your dictionary if

necessary.

Prefix =~ Meaning Examples
Noagntivva 137 ) IImnmaonatizad
INCRauve ull UL glivuiLtu
in- incomplete
im- ; not impossible
il- illegal
ir- | irregular, irrelevant
non- not connected with non-programmable,
mis- ) bad misdirect
ad, wron :
mal- } g malfunction
dis { opposite feeling disagree
onnosite action disconnect
| oppositeaction ~ disconnect
anti- against antiglare
de- reduce, reverse demagnetize, decode
under- too little underestimate
Positive re- do again reorganize
over- too much overload
Prefixes of size:
Prefix Meaning Examples
semi- half, partly semiconductor
equi- equal equidistant
mini- small minicomputer
micro- very small microcomputer
macro- macroeconomics
large, great
mega- megabyte
Prefixes of location:
Prefix Meaning Examples
inter- between, among  interface, interactive
super- over supersonic
trans- across transmit, transfer
ex- out " exclude, extrinsic
extra- beyond extraordinary
sub- under subschema
infra- below infra-red
peri- around peripheral

25



Exercise 2

26
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Prefixes of time and order:

Prefix Meaning Examples
ante- ) antecedent
before .
pre- prefix
prime- first primary, primitive
post- after postdated E>
retro- backward retroactive

Prefixes of numbers:

Prefix Meaning Examples
semi- half semicircle
mono- one monochromatic
bi- two binary
tri- three triangle
quad- four quadruple
penta- five pentagon
hex- six hexadecimal
sept{em)- seven September
oct- eight octal
dec- ten decimal
multi- many multiplexor
Other prefixes:
Prefix Meaning Examples
I before, in advance program

pro- . .
ol 1 forward progress
auto- self automatic
co- co-ordinate

} together, with
con- connect

Read the following sentences and circle the prefixes. For each word that has a
prefix, try to decide what the prefix means. Refer back to the table if you need
help.

Floppy disks are inexpensive and reuseable.

If a printer malfunctions, you should check the interface cable.

The multiplexor was not working because someone had disconnected it by
mistake.

Improper installation of the antiglare shield will make it impossible to read
what is on the screen.

After you transfer text using the ‘cut and paste’ feature, you may have to
reformat the text you have inserted.

AUV 101G vaav voa Vi a1avie 112180

You can maximize your chances of finding a job if you are bilingual or even
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Exercise 3

= W

N

~

Peripheral devices can be either input devices (such as keyboards) or output

devices (such as printers).
Your pay rise is retroactive to the beginning of June and you will receive a bi-

annual bonus.

The octal and hexadecimal systems are number systems used as a form of
shorthand in reading groups of four binary digits.

PEOVE RIS PR TR P g nxra A maTETIer A
As the results are irregular, the program will have to be rewritten

r

Fill in the gaps with the correct prefix from the following list.

auto de dec inter
maxi mega micro mini
mono multi semi sub
Most people prefer a colour screen toa _______chrome screen.

__script is a character or symbol written below and to the right of a

number or letter, often used in science.

A _____byte equals approximately one miilion bytes.

Once you finish your program, you will have totestitand ____ bugitto
remove all the mistakes.

The introduction of ____conductor technology revolutionized the computer

industry.

If a computer system has two or more central processors which are under

common control, itiscalleda ___ processor system.
The __ __imal system is a number system with a base of 10.

When the user and the computer are in active communication on a graphics

system, we refer to thisas ______active graphics.

27
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Spreadsheet: The Magic Matrix

grid network of crisscrossed bars
accountant someone whose job is to keep and
check financial accounts, calculate
taxes etc
primary first, original
Instructor teacher, educator
alternative optional
confine limit, restrict
profit benefit, privilege, financial gain
loss failure to keep, defeat
statement declaration, printed record of account
activity




Spreadsheet: The Magic Matrix

demography study of the statistical characteristics
of a population
Inventory stock, list of assets
budget financial plan
highlight stress, emphasize
content all that is inside of something
designated intended, chosen
IHlustrate demonstrate, exemplify, clarify, depict
currency money, prevalence




Spreadsheet: The Magic Matrix

rectangle parallelogram with four right angles
dozen twelve items, group of twelve
outfit equip
scroll move on-screen text or images
horizontally or vertically
magnify enlarge, increase the size of,
exaggerate




Simulation by Spreadsheet

simulation

imitation

In response to

act of pretending

frustration

disappointment, anxiety and
depression

amazed surprised, astonished
milestone Important event
explanation description
capital assets, wealth
foolproof guarded against every possible

mistake




Simulation by Spreadsheet

negotiate to succeed in getting past or over a
difficult place on a path
loan something borrowed
stock the capital raised by a corporation
through the issue of shares entitling
holders to an ownership interest
bond certificate of debt
means method, way
arithmetic mathematics
labor work-force, workers, working class




Exercise 1

36

Language focus C

We have already seen how prefixes can change the meaning of a word. Let us
now consider some suffixes, their usual meanings, and how they change the

meanings of English words

Suffixes

]
Nouns Verbs Adjectives Adverbs
-ance -ize -able Iy
-ence -ate -ible
-or -fy -less
-er -en -ic
-ist -ify -ical
-ness -ish
-ive

Study these tables and try to make additional examples. Use your dictionary if

necessary.

Noun-forming suffixes:

Suffix Meaning Examples

-ance state performance

-ence quality of independence

er. -or a person who programmer, operator
' { a thing which compiler, accumulator

-ist, -yst a person who analyst, typist

i ~
-ian pertaining to

-tion, -ation  the act of

-1ess condition of

-ion action/state

-ing activity

-ment state, action

-ity state, quality

-ism condition/state
-dom domain/condition
-ship condition/state

electrician

A cirician

compilation

.
raadinecc
reauviiivoo

conversion
multiplexing
measurement
electricity

magonetism

11 RV LIORAL

freedom

walatinnchin
Luiativilioliipys,

partnership




Verb-forming suffixes:

Suffix Meaning Examples

-ize/-ise | computerize

-ate ‘ automate, activate,
YIS N el loda
LU I11d O Caituiadilco

-ify [ simplify

-en J harden, widen

3 | Adverb-forming suffix:

Suffix Meaning Examples

-ly in the manner of electronically,
logically, comparably,
helpfully

4  Adjective-forming suffixes:

Suffix Meaning Examples

-al computational, logical

-ar having the quality circular

-ic [ of magnetic, automatic

-ical electrical

_il?ie l capable of being g?ri[') E]I;able

“lUilv J uivioiviv

-ous like, full of dangerous

-ful characterized by helpful

-less without careless

-ish like yellowish

-ed having the quality computed

-ive of interactive

Note: Words ending in -ing are formed from verbs. The -ing form may be used
as a noun, part of a noun phrase, or part of a verb.

Examnbles:

LAGLIIpPIUS,

1 Programming is an interesting job. (noun)
2  Programming in C is interesting. (part of noun phrase)
3 Heis working as a programmer. (part of verb)

Read the following sentences and circle the suffixes. Underline the stem if it can
be used on its own. The first one has been done for you.

Exercise 2

taclcea AN o comnuten,
LvUUUonU Vil \/Ulllyu WA

2 Asystems analyst studles orgamzatlonal systems and decides what action

37
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Laser printers are preferable to other types of printing devices because of their
speed and quietness.

The microcomputer we have purchased does not have a FORTRAN compiler. It
is programmable in BASIC only.

AT~ L f.
We have found that operators who

a
during the day greatly improve their p

i1

SN P 2 e

The number of shipments will incrcase .

We decided to computerize the entire plant to give each division more
independence.

Spooling is a way of storing data temporarily on disk or tape until it can be
processed by another part of the system.

Turning your office into a paperless environment may be expensive at the
beginning but can produce big savings in the long run.

Software developers are producing increasingly sophisticated applications for a
growing global market.

Now, for each word that has a suffix, indicate what part of speech the word is

g n

{n o
(€.8. O
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Processor Design

thereby because of that TEICERR
throughput rate of transfer Slhdes g5 ¢ 2,05
realize understand 8k o
significantly in an important manner o2l sk 4
burden load )b
proponent supporter, advocate JIREINE
simultaneously concurrently Ol yob &
portion part, piece s
net final (about weight, profit) A




Processor Design

referred to mentioned ool ools gl |l
massively enormously 3> 3l w0l
capacity volume which can be U lS-cus b
contained or received
challenge difficult and stimulating AL
task
confront with face L oo axlse
suit fit, match OO ol
attempt try,effort Oy o
mimic imitate O, adas
Incredible unbelievable 9,555




Processor Design

equivalent equal in worth or value Jolas

sphere globe,orb 0397 09gIZT0 (59,5 (>

crop harvest, produce Jyazo
rotation set order in which events 9SS
take place

forecast foretell, predict OO (S O
fluctuation instability, change Olwgs
outperform exceed in performance 8k 55y

accurate precise, exact B8O

live up to fulfill someone's Sl HUal o ges 08 )4l

expectations




Processor Design

crowd

public




S
Should PC Ownership Be an Entrance Requirement for
Colleges?
tighten make tight IS pSa
competitive tending to compete =B,
prerequisite prior condition aoj¥ ¢ 5o siw
admission permission to enter oo
versatile multi-purpose & 9o
stand-alone be one of a kind Jiio
lounge lobby Sl L
bibliography list of source bl oS
materials
correspond with related to L s ,e
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Organizing information

A paragraph is a group of related sentences that develop an idea. In nearly

every paragraph, there is one idea that is more important than all the others.

At 1dan AF L “““““““““ L . saoianllsy Fines JUNgh S ~ _.A.A..A,.
Thc IMidiii 1aCd O1 ui€ pdaragrdpii iS usSud l_y 1ULluu at Lu oeginning.

Sample paragraph 1:

All computers, whether large or small, have the same basic capabilities.

They have circuits for performing arithmetic operations. They all have a

way of communlcatmg w1th the person(s

818]
vy 110,

using them. They also have

AliLy 4l liave

Aivoriite fn
In sample paragraph 1, the first sentence, All computers, whether large or small,
have the same basic capabilities. expresses the main idea of the paragraph.

All main idea sentences have a topic and say something about the topic.

Fyvamnla:

LJAuAlltjl\/
All computers [topic], whether large or small, have the same basic capabilities
[alhniit tha il
LC[UU L LU LOUpPIL |

In some of your reading, finding main ideas may serve your needs but, in much
of your studying, you need to understand details. It is sometimes more difficult
to understand details than main ideas. You will find it helpful if you think of
details as growing out of the main idea. In sample paragraph 1, there are three
major details growing out of the main idea. These are the major details:

1 They have circuits for performing arithmetic operations.

2 They all have a way of communicating with the person(s) using them.
3 They also have circuits for making decisions.
owing out ofit. T Y
details tell more about a mai
¢ :

attridving

Studying, you o1 Is that Lt YOu miusSt
understand and remember. Breakmg p a paragrdph of this kind into its three
components: the main idea, major details, and minor details will help you to
understand and remember what it is about.
Sample paragraph 2:
It is the incredible speed of computers, along with their memory capacity,
which makes them so useful and valuable. Computers can solve problems in
a fraction of the time it takes man. For this reason, businesses use them to
keep their accounts, and airline, railway, and bus companies use them to
control ticket sales. As for memory, modern computers can store

information with high accuracy and reliability, A computer can put data

into its rnemory and retrieve it again in a few rmlhonths of a second. It also

T‘

g N gQ
11as a d

49



Exercise 1

50

If you were to organize this paragraph into its three components, it would look
like this:

Main idea Itis the incredible speed of computers, along with their
memory capacity, which makes them so useful and
vaiuabie.
Major details Computers can solve Modern computers
probiems much faster can store informatio
than humans. with high accuracy
and reliability.
Minor details Businesses Transport Acomputer | Italsohasa
use them companies can put storage
to keep use them data into capacity
accounts. to keep its memory | foras many
track of and as a million
ticket retrieve it items.
sales. againin
afew
miliionths
of a
second

In making a block diagram you don’t have to write every word in the main
idea sentence or in each of the detail sentences.

Practise finding the main idea, major details, and minor details by completing
the block diagram after reading the following paragraph.

The computer has changed the production of copy in the newspaper industry.

IV L

There are thre steps nvolved in the process: input, correction, and output.
mbers each story, counts words, and gives a listing of the

1 Ium
Lilgsaa el UCLS LA SIUL Diuis, dilll

length of each story. Th n, a page is made dvertlsements are placed in, the
3 d d nd corrections are made ’Fﬁnn"v the combputer

v LLu vuULivuuivig Gua v AALU\AUQ L ALYy vaaw LA PRl

hyphenates words, and the result of all this is a newspaper page.

Main idea The computer has changed the production of copy in the
newspaper industry.

Major details

Minor details




Exercise 2

Practise finding the main idea, major details, and minor details by completing
the diagram after reading the following paragraph.

Railway companies use large computer systems to control ticket reservations
and to give immediate information on the status of their trains. The computer
system is connected by private telephone lines to terminals in major train
stations, and ticket reservations for customers are made through these phone
lines. The passenger’s name, type of accommodation, and the train schedule is
put into the computer’'s memory. On a typical day, a railway’s computer
system gets thousands of telephone calls about reservations, space on other
railways, and requests for arrivals and departures. A big advantage of the
railway computer ticket reservation system is its rapidity because a cancelled
booking can be sold anywhere in the system just a few seconds later. Railway
computer systems are not used for reservations alone. They are used for a
variety of other jobs including train schedules, planning, freight and cargo
loading, meal planning, personnel availability, accounting, and stock control.

Mainidea
Major details Terminals for ticket

reservations ]
Minor details Thousands of

calls for
reservations,
space, arrivals,
and departures
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Optical Laser Disks: High-Density Storage

predict foretell 00905 (S e
eventually finally, in the end Ls s
obsolete ancient, useless & gaanicar 03 gau 3
beam ray of light 5 peglads
score cut, make a notch o9 dlml JLes «plal s
pit hole o o
deflect deviate S 30,5 paSas
double multiply by two O0g0d aslas
burst erupt, break open GO il




Optical Laser Disks: High-Density Storage

seam line where two pieces are ol 500 S
stitched together
decline refuse, go down, decrease S g0, 5
impractical unpractical, not useful (S es yue
warehouse wholesale store, storehouse Oy« Ul
distant remote, far apart Cewd g9
periodical magazine, journal sl oy90 4 yide alme
loan borrowed money ely
stabilize make stable Ol gl
spinoff byproduct,offshoot >l o Sl Jyame




Optical Laser Disks: High-Density Storage

compact dense, condensed 00 ypiud
alter change, modify OOlS s
bump blow, stroke Co o
land top layer , surface Slo S5
detector sensor poisS aiS ¢ jlw ,ISsl
analogous similar sl
device apparatus olKws
jukebox machine which contains a Okl S dnx
collection of records and plays
by inserting coin
poised to ready oolo]




Optical Laser Disks: High-Density Storage

tremendous huge, enormous S Kbl y Hlade y Ko
commercially relating to buying and selling & bl |
peripheral external, outer sl olKiws
proprietary of an owner, of property eolais]
cartridge removable unit containing a g S8
data storage medium
retailer selling goods to final g8 03,5
consumers
pursue chase after, follow 09,5 il




Electronic Publishing: Saving the Trees

enthusiastic excited, intensely Qe a8lee 3liine
interested
manual handbook Losal,
correspondence exchange of letters, Sl clis
similarity
partially partly Sl
retrieve find information and bk

display it as output
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Formation

The regular omparative and superlative forms of descriptive words (adjectives

are shown below:

Examples

Absolute Comparative Superlative
Adjectives new newer newest

old older oldest

big bigger biggest
Adverbs soon sooner soonest

late later latest

Words with three or more syllables are preceded by more and most.

Examples:
Absolute Comparative Superlative
Adjectives interesting more interesting most interesting
convenient more convenient  most convenient
beautiful more beautiful most beautiful
Adverbs easily more easily most easily
carefully more carefully most carefully

Adjectives with two syllables may be like 1 or 2 above in that they will add the
ending -er and -est if they end in -y or -1y, -ow, -le and -er.

Examples
) ol
Absolute Comparative Superlative
-y tiny tinier tiniest
speedy speedier speediest
-ly , early earlier earliest
friendly friendlier friendliest
-OW shallow shallower shallowest
narrow narrower narrowest
-er clever cleverer cleverest

61
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Most of the remaining two-syllable adjectives take more and most in front of

them.

Examples:

Absolute Comparative
careful more careful
careless more careless
boring more boring
awful more awful
complex more complex

most careful
most careless
most boring
most awful
most complex

Some common two-syllable adjectives can have either type of formation.

Examples:
Absolute Comparative Superlative
common commoner/ commonest/
more common most common
gentle gentler/ gentlest
more gentle most gentle
quiet quieter/ quietest/
more quiet most quiet

Two-syllable adverbs ending in -ly take more and most.

Examples:

Absolute Comparative Superlative

quickly more quickly most quickly

slowly more slowly most slowly

badly more badly most badly

A small number of adjectives and adverbs have an irregular comparative and

superlative form.
Examples
Absolute Comparative Superlative
Adjectives bad worse worst
far further/farther furthest/farthest
good better best
many more most
Adverbs badly worse worst
far further/farther furthest/farthest
little less least
much more most
well better best




2
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Use in sentences

Comparisons may show equivalence, non-equivalence, the highest degree of
something, and parallel increase.

Equivalence: the following words or constructions are used to show that things
or people are similar in some way.

as ... as are similar each
as many ... as equal to either
asmuch...as  islike all
the same ... as  similar/ly both
similar to equal/ly alike
the same compared to/with
Examples:
1 Here, the term ‘processor’ is equivalent to the central processing unit.
2 Laptops are as powerful as microcomputers.
3 Some companies have as many computers as employees.
4 Some companies use both disks and conventional filing systems for storing

data.

A computer virus is like a virus in the human body. It can do a lot of damage.
Many word-processing programs are similar in that they share certain
common functions.

SN Ut

Non-equivalence: the following words and constructions are used to compare
or contrast things or people that are separate from each other.

not as ... as greater than unequal(ly)
..-er than not as many ... as  unlike

more ... than not asmuch ... as not the same as

fewer ... than not equal to not all

less ... than

Examples:

1 A mainframe is larger and more expensive than a microcomputer.
2 Learning to use a computer is not as difficult as learning to program.
3 A fax board costs less than a fax machine.

4  Unlike factory-sealed software, pirated versions may fontain viruses.
5

6

Desktop publzshmg is the same as electron ¢ pu 11 hin
il

You can save money with a
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the ...-est the most ... the least ...

Examples:

This is the most popular package on the market today.
BASIC is probably the least difficult programming language to learn.
The best programs are those adapted specifically to your own needs.

W N =
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Parallel increase: the following words and constructions are used to show
parallel increase (two comparatives).

the ...-er, the more ... the more ..., the ...-er  the ...-er, the less ...

Examples:

1 The more memory your computer has, the more data it can store.
The bigger your computer system, the less time you spend waiting.
The more training you give to your employees, the better they will perform.

w o

The following sentences express computer capabilities and limitations. Decide
whether the sentences express equivalence, non-equivalence, or the
superlative, then underline the words expressing the comparison. The first one
has been done for you.

nee Speeds for performing decision-making operations are

I A

S _ Fven the most sophisticated computer, no matter how good it is,
must be told what to do.
. ._ A computer can perform similar operations thousands of times,

without becoming bored, tired, or careless.

___ For example, modern computers can solve certain classes of
arithmetic problems millions of times faster than a skilled mathematician.

_ One of the most important reasons why computers are used so
widely today is that almost every big problem can be solved by solving a ;
number of little problems.

. Finally, a computer, unlike a human being, has no intuition.

Read the following sentences taken from previous units. Decide whether the
sentences express equivalence, non-equivalence, or the superlative, then
iunderline the words expressing the comparison.

. ___ Digital Research have continued to develop their operating
system, DR/DOS, and it is considered by many people to be a better product
than Microsoft’s. (Unit 1)

For the last generation, Silicon Valley and Tokyo have been
working to design computers that are ever easier to use. (Unit 2)
.. Thereisone thing, however, that has prevented the machines
from becoming their user-friendliest: ... (Unit 2)

. ___ Clipboard PCs — which, as their name suggests, are not much
bigger than an actual clipboard — replace the keyboard with a liquid crystal
display (LCD) screen and an electronic stylus. (Unit 2)

_ When the computer finds the closest match, it encodes the
character in memory and displays it on the screen as if it had been typed.

(Unit 2)

__ There are a handful of clipboard computers now on the market,
including GRIDPad, which is sold in the US: Penvision, manufactured by NCR

and sold around the world; and Sony’s Palmtop and Canon’s Al Note, both sold
J (Init 2)

nann
Apdii. \wiiiv &y

o'

_____ I'mfrequently asked which online service is ‘best’ but, the

answer is, there is no best. (Unit 3)



10

Exercise 3

.. They tend to judge all other online services based on this first
service — often preventing themselves from seeing the advantages of a specific
service. (Unit 3)

. - Each offers one or more products or features that either do not
exist elsewhere or are superior to the same features on other services. (Unit 3)
I Judge it based on what it offers and how it meets your needs —
not in comparison to what you're used to using. (Unit 3)

Refer back to the table of word-processing packages (Unit 5, page 58) and write
ten sentences comparing the products advertised.

Examples:
Upword is more expensive than JustWrite.
Ami Pro 2.0 has the largest spell check dictionary.
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Magnetic Stripes and Smart Cards

badge tag, sign AT § Ay Cedle g sl
appropriate suitable, fitting el
confidential secret alo e
authorization official permission Sl ol
permit allow ol o5l

chronological

arranged according to
the dates on which
events occurred

£599 Slo) o e £989 s Y

nonvolatile

stable

I

replacement

substitute




Magnetic Stripes and Smart Cards

purchase buy OO5e5 (5l >
deduct subtract from a total E29 95 St 5355 o5
O35
Inevitable unavoidable »3b ol
recognition acknowledgment, ol ais
identification
discrete separate, individual JETIPRNC oW
catch up with overtake 8,5 e
off-the-shelf standard, mass-produced 0gusl 3l g
visually by means of vision &l
extremely very, highly AR




Magnetic Stripes and Smart Cards

complex complicated R
eyesight sight, seeing by
digitize convert analog data 00 Jezmd
Into digital data
identify recognize OIS ansid
drop off disappear, become db als
less
roll cylindrical object, gl Jg, a8l
scroll
once when o
merchandise goods, stock, trade O O, YIS




Magnetic Stripes and Smart Cards

customer client S s

train learn ools 3 jse]

expand grow larger O daier (8L la
permanent fixed, invariable o3l
handheld small enough to be held in the palm (s
of one's hand

soft not firm; smooth oo o 5

solid-state consisting of semiconductor sold Ao
materials
stock supply of goods, inventory; share 0 yu=3¢ (539790
clerk minor office worker Sy Ao, S lo 8




Magnetic Stripes and Smart Cards

routinely ordinarily Jgeno
inventory stock, list of assets 2hlo ¢ 639> g0
slate fine grained rock that is easily zo S doio 4 g

split into thin layers

alphanumeric consisting of letters and SO (B,
numbers
signature signing of one's name sl
participant partaker 0aiiS &8y




Point-And-Draw Devices

navigate steer, journey O Culow
command order, direction,control Oley8
effectiveness efficiency, productivity 2S5
Instance example A 9036 )90
particular special, unusual Pl o
accordingly therefore; PERE

correspondingly




me sequen

q
o
®

In activities such as scheduling, doing routine activities, and conducting and
describing experiments, it is important to recognize the sequence of events. As
I | v mIcr Ao " lnfinn f}‘\a 7 r oithar hafare

we kHOW, everiis ao not SHTIPLY OCCUr in iso ation, iney oCcur Ciner veiore,
during, or after other events. This time sequence may b hronological, logical,

¢}
(@]

or causal. The following tables show examples of time relaters.
Before given time-references:
Time relaters
Adjectives earlier preceding
former previous
Adverbials already earlier previously
prior first so far
before formerly yet
originally
before that up to now/then  in the beginning
before then until now/then long) ago
Lvamnlage
LAAlllpivd.
1 The memory storage capacity of earlier computers was not as large as those
of today.

2 When the first digital computer was developed, the first analog computer had

already been in use for some time.
3 Up to now, voice recognition technology has not been developed for mass

N ERAS ww y

marketing.

2 Simultaneous with given time-references:

Adjectives
Adverbials

Time relaters

contemporary

at present

at this point
now/then

today

for the time being
at the moment

at that time

simultaneous

meantime
meanwhile

in the meantime
when

at the same time
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Examples:

1 At that time many new computer programs were being developed for use in
businesses.

2 Computers may soon take over many daily tasks, but in the meantime
ordinary people must continue to do them themselves.

3 Computer magazines keep us informed about contemporary issues in the

computing world.

After glven time-references:

Time reiaters

i
v " -"wm.

Adjectives following later next ]
Adverbials afterwards since by the end I
‘ after that by the time soon !
eventually next
Examples: K
1 Since the development of the chip, computers have become cheaper and more
compaat.
2 You should have a good idea of the various applications of computer software
by the time you finish reading this book. ’
3 Although initial versions of word-processing programs were not very
complex, later versions were much more sophisticated.
Sample paragraph: L

Computers, as we know them today, have not been around for a long time. It f

. ~ i d TQ o ~
was not until the mid-1940s that the first working digital computer was H'

completed. But since then, computers have olved tremendously. Vacuum
tubes were used in the first-generation computers only to be replaced by
transistors in the second-generation computers at the beginning of the
carly1960s. By the end of the 1960s, transistors themselves were replaced
tiny integrated circuit boards and, consequently, a new generation of
computers was on the market. Fourth-generation computers are now ;
produced with circuits that are much smaller than before and can fit on a
single chip. Even now, new technologies are being developed to make even
better machines.

Read the following paragraph and, as you read, underline ihe time relaters.

During the seventeenth and eighteenth centuries, many easy ways of
calculatlng were devised. Logarithm tables, calculus, and the basis for the
modern slide rule were invented during this period. It was not until the early

1800s that the first calculating machine appeared and, not too long after,
(harlac Rahhaoe desioned a machine which became the basis for bulldlng

UIIAdLIUO DUQU U ALY UMUOISLLiUR T8 ARitiisiiitys A2 20 VAR LAl

today’s computers. A hundred years later, the first analog computer was built,
but the first digital computer was not completed until 1944. Since then,
computers have gone through four generations: digital computers using
vacuum tubes in the 1950s, transistors in the early 1960s, integrated circuits
in the mid-60s, and a single chip in the 1970s. In the 1980s, we saw
computers become smaller faster and cheaper. Earlier this decade, computers
hecame nartable. from lantons to palmtops. At the rate computer technology is

vouldlliv pul LuUl\/ LU aQpeUp S v PRI S LA LU LAl LULELE

growing now, we can expect further dramatic developments before the end of

<




- Exercise 2

N

Exercise 3

Read the following sentences which come from previous units. Underline the
time relaters and indicate whether they refer to before, during, or after the
given time reference. The first one has been done for you.

after Since then, over seventy million PCs made by IBM and other

turers havp heen cn]r] (TTnlf 1\

Over this period, PCs have become commodity items. Since IBM
made the design non-proprietary, anyone can make them. (Unit 1)

_ Ten years later, in 1991, IBM were making PCs with 16Mb of
memory, expandable to 64Mb, running with a processor speed of 33MHz.
(Unit 1)

, Large companies are considering running major applications on
PCS somethlng which, ten years ago, no one would have believed possible of a
PC. (Unit 1)

— ... When the computer finds the closest match, it encodes the
i y displays it on the screen as if it has been typed.

year. (Unit 2) _
B Eventually, we're all going to be interlinked, no matter which
service we use, in what DIALOG’s Richard Ream calls a ‘network of networks’.
(Unit 3)

Until then, most of us have to go to more than one service to
ﬁnd everything we need. (Unit 3)

Now refer back to paragraphs 1, 2, 4, and 5 of the text entitled Computer

networks (page 67, Unit 6). Underline all the time relaters and indicate whether
they refer to before, during, or after the given time reference.
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Desktop Printers: Lots of Choices

cash money in the form of coins and Rv:E
bank notes
receipt bill of sale sy ) 8
memo reminder Casloal
payroll financial sheet listing salaries By o]
emit send out Oy &l
shutter hinged cover for a window or V%9,
door
shade cast a shadow upon; dim S5 ale
naked eye bare eye sl ol
Injection the forceful insertion of a &P

substance under pressure




Desktop Printers: Lots of Choices

chamber room U1
squirt shoot out 535 0)led
droplet small drop S>S o ,kad
enclosure confinement, closure of area alhoe
expose reveal, uncover Ooges bl o
drum a bulging cylindrical shape Shale
affect influence oo, sl
toner Ink used by laser printers 9>
fuse combine by melting together OS]




Desktop Printers: Lots of Choices

resolution Image precision P9 Teos

emerge appear, come out O3l
budget-minded minding budget ol
routinely usually o

generate create, produce OO My

precision exactness, accuracy 8

plotter a type of printer 0SS
tiny very small b

pin small needle Sl ab




Desktop Printers: Lots of Choices

accommodate host guests; provide lodging OIS 385 (yols J e
facsimile material sent via a fax machine S ples
sophisticated complicated RVE )
aura something which emanates from a e
person
demand claim, requirement Lolas
transparency being clear cudlas
acetate sheet of clear plastic film Sl




Desktop Printers: Lots of Choices

capture entrap oo s
fade become dim OO 9o
panel flat piece of wood Ao

reproduction duplication O S
synthesis formation of a compound through | sl oS <S5

convert transform, change OO o

flexibility ability to bend or be bent Sy Slasi]
raw unprocessed pl>




Desktop Printers: Lots of Choices

environment

surroundings

resemble

be similar to

13l Calid (ydges el

phoneme

syllable; sound




Computers: The Enabling Technology for the Disabled

profound serious, deep Baos
stun shock; astonish Oy 00y Oy
paraplegic paralyzed B RACBIER
podium platform, stage e yazs oS>
rehabilitative designed to restore good 0diiS lev 3L
health
stimulation motivation % 5l
intensity strength Sade ook
muscle contracting body tissue azalo
portable mobile Jo= LB




Computers: The Enabling Technology for the Disabled

coordinate arrange in proper order oo Sealen
gait way of walking Crllo yy a8
stage raised platform Lo
cardiac of the heart PNt
pacemaker heartbeat regulator Olrd 0disS pplais oltws
attach annex; add Jlas!
chronic lasting (as of an iliness); Cyo e
constant
deformity abnormality (S
auditory related to hearing S 5l




Computers: The Enabling Technology for the Disabled

spinal referring to the backbone s
therapeutic pertaining to the treatment of a by
disease
paralysis palsy b
atrophy degeneration of a body part 5y el
circulation movement of blood within the 09 00,5
body
sluggish slow, inactive Jo5
cardiovascular pertaining to the heart and $59,¢
blood vessels
sore inflammation, wound col >
pedal lever that is used to operate a Jlay

device




Computers: The Enabling Technology for the Disabled

crank rotate; turn a lever Oy Jose

seek search for OOges g
In the meantime meanwhile (oo O

thrill excite O3 Hlete
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Language focus G
Listing

It is important when reading to recognize and understand the relationship in
which sentences and groups of sentences combine to present information. This

information may be linked by means of a connective word or marker.

vy

Making a list, for example when enumerating, and giving instructions,
indicates a cataloguing of what is being said. It is important to note that most
enumerations belong to clearly defined sets. The following table is a list of the
markers that can be used to show the order in which things are to be said.

1,2, 3, etc.

above all
last but not

one, two, three, etc.
first(ly), second(ly), third place

another, next, then
furthermore, afterwards, moreover

lastly/tinally

to begin/start with, and to conclude

first and foremost l mark the beginning
first and most important(ly) of a descending order

Y  mark the end of
least j an ascending order

There are

IS i D Fpaes

any ways of showing sequential relationships. Those give

. At tha Al
table above are not the only ones, they are the most commeon ones us

listing or enumerating. The -ly forms are usually used when listing.

Sample paragraphs:
More and more police departments are now using sophisticated devices to
help control the increasing crime rate. Some of these devices are: firstly, a
computer terminal inside a police vehicle to answer an officer’s questions,
secondly, a computer-controlled display unit for displaying fingerprints, and
thirdly, educational systems for police officers such as terminals, enabling
them to verify changes in laws, rules, and regulations.

n in the
ed in

vu j8 83

The computer memory of many law enforcement systems contains all kinds
of information. First and foremost, it has data on stolen items such as cars,
licence p}au:b and pmpert". Second, it has inf ormation on missing persons
political

Y
t but not least, it contains information on
I i



Exercise 1

Exercise 2

Computers have certainly revolutionized police work by providing access to
millions of items of information with the least possible delay and speeding up
the process of apprehending suspicious-looking characters.

Complete the following paragraph about the various steps in the creation of a
database by filling in the blanks with appropriate listing markers.

. 1 .
When you are creating a new database, youmust ... decide how
many fields you will need in your database.”_. .., you will have to
. . . 3
provide up to five items of information abouteachfield. — ____ _,each

field needs to have aname.*________ the field type has to be defined.
Character, numeric, date, and logical are some common types. .
choice to be made is the width of the field. However, some fields, such as date,
have present default values. The ° _ stepisto set the number of
decimal places if the field is numeric. 7, youwill have to indicate
whether the field is to be indexed or not.

Complete the following paragraph by filling in the blanks with appropriate

ing markers.

oy

Computers can do wonders, but they can waste a lot of money unless careful
consideration goes into buying them. Businessmen and women thinking of
~ admit they know very little
about computers.” _, they must realize that the computer sales
people don't always know how their business works.

> itisessential that buyers should get outside advice, not

necessarily from consultants but from other executives who have had recent
. 4
experience in buying a computer system._________ they should try to see

systems similar to ones under consideration in operation. Because their

operations will have differences that must be accommodated, they should

> find out what would be involved in upgrading a system.

6 . . . .
2 important thing to know before buying a computer is the
financial situation of the supplier because computer companies come and go

nd not all are financially stable.”  the prospective buyer should

jab)

demand that every detail be covered in writing, including hardware and
software if they are supplied by different companies. There’s nothing wrong
with computers themselves, it's how and why they are used that can cause

problems.
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Special-Function Terminals: ATMs and POSs

variety diversity, multiplicity o5
badge tag, sign At § Az Casdle
transaction interaction between two parties aloles o 22515
response reply, answer ey
catch on become widespread 3,5
consortium an association of companies for some CS i i B
definite purpose
on the spot iImmediately, in a difficult position o

transcript

written copy

C,«.J.’a.aj) chb.w




Special-Function Terminals: ATMs and POSs

revenue Income, government income earned through 033l zdlis
taxation
point-of-sale computer application facilitating sales 09,0 alads
transactions and helping track inventory
establishment foundation, permanent organization ol cdnsga

wand optical bar code reader Sls> slabes oS oSy
stationary not moving, still ool
contain include, have within o8 Ssl>
Identification recognition Caod et
request demand Lol




Special-Function Terminals: ATMs and POSs

verbally orally lalads
checkout final inspection, place where one pays for =19
purchases in a commercial establishment
stand position o5 1>
pulse throbbing, beating odbe 4,5
besides in addition to 55Dl
replenish resupply, reload, restock Saze 53,5

restock resupply Sz 50,5




Special-Function Terminals: ATMs and POSs

fasten secure, bind, attach, close BRI AR W
warehouse storehouse S5 L)
restrict confine 59,5 Ssasee
merchandise goods, ware, stock o Lol LS

itemize list Oy €3 Ay e
purchase buy, procure O ol 5
tax Impose a tariff, levy s S (UL




Multi-User Systems

wise clever; smart Mle
afford be able to pay for Sl el
economic of the science of economics solazdl
dumb mute, slow K5 ypdasS
inexpensive cheap o)
savings conservation, preservation Sl g
currently presently Lol b o
compatible consistent S5 5l




Multi-User Systems

appropriate suitable; fitting 185 S ccnmlio
extensive comprehensive 03 yiuS
suitable becoming owlio

ergonomy pertaining to human engineering Sl slo 525
prompt done immediately S5y




]

Passives are very common in technical writing where we are more interested

in facts, processes, and events than in people. We form the passive by using the
appropriate tenses of the verb to be followed by the past participle of the verb we

uyl,u UpLLIALL tviovo hlL\/ VoL v v AA VY e ViAN Q3L QLA LiiL

are using.
Examples:
Active
1  We sell computers. ( mpl e present)
2 Babbage invented ‘The Analytical Engine’. (simple past)
t) e A xr ) 4 ’
Dnnn;vvn
L dAddLVU

1  Computers are sold. (simple present)
2 ‘The Analytical Engine’ was invented in 1830. (simple past)

EFranacnte ared muvanacecene
ravio adiiu prvvcoovo
YATl A w27 Tarrit 1t s
When we write or talk about facts or processes that occur regularly, we use the

present passive.

Examples:
1 Data is transferred from the internal memory to the arithmetic-logical unit
along channels known as buses.
2 The other users are automatically denied access to that record.

3 Distributed systems are built using networked computers.

Read the text below, which describes the insurance company'’s procedure for
dealing with PC-users’ problems. Fill in the gaps using the correct form of the

All calls ! (register) by the Help Desk staff. Each call

2 (evaluate) and then ’ L
(allocate) to the relevant support group. If a visit !

(require), the user ’ (contact) by telephone, and an
appointment o ) (arrange). Most calls

’ (deal with) within one working day. In the event of a

major problem requiring the removal of a user’s PC, a replacement can usually

8
(supply).
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Exercise 2

e g

Exercise 3

98

R

sl o

e

Fill in the gaps in the following sentences using the appropriate form of the
verb in brackets. :

The part of the processor which controls data transfers between the various

ey ANt

i

input and output devices . _ {call) the control unit.

The address bus , _____ (use)tosend address details between the

memory and the address register.

recognition software.
An operating system . . ~______ (store)on disk.

Instructions written in a high-level language . .~ . . o~

(transform) into machine code.

In the star configuration, all processing and control functions

_ (perform) by the central computer.

When a document arrives in the mail room, the envelope

i
The pixel positions ..~ _____(pass on) to the computer’s pattern i

(open) by a machine.

Once the index ‘ . _____(store), a temporary key number

(generate)and . ... ... (writejon the
document. r
Events

When we write or talk about past events, we use the past passive. Let us look at
some examples.

Examples:
1 COBOL was first introduced in 1959.

2 Microsoft was founded on the basis of the development of MS/DOS.
3 The organization was created to promote the use of computers in education.

Fill in the gaps in the following sentences using the appropriate form of the

cramla 3
verb in brackets.

N

Microsoft . ~____(found) by Bill Gates.

C language . ~___ (develop) in the 1970s.

During that period, enormous advances ... (make) in
computer technology




In the 1980s, at least 100,000 LANs (set up) in

laboratories and offices around the world.

The first digital computer (build) by the University of
Pennsylvania in1946.

Last year, more software companies (launch) than ever
before.

IBM's decision not to continue manufacturing mainframes

(reverse) the year after it (take).
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Data Communications Hardware: Making It Happen
transmit send, broadcast odls Jas!
vast enormous, huge oudiecol 0 5 e awge gl
array arrangement of data elements along one or )]
more dimensions
trend tendency Ll ¢ !5
convergence assembly, coming together o) e
evolve change gradually O35S g
concentrator a device which makes signals more intense 03S 3S el
hub common point of connection for devices in a ALy (el dux>
network
router hardware device which directs messages b s
across a network to their correct destination
Interface equipment or programs which enable two Lly ol
different systems or programs to communicate
handle manage, deal in 53,5 ool




S
Data Communications Hardware: Making It Happen
multiplexer a device that can interleave two or more OXS (g
activities
modulate regulate, adjust O kS 35 hass
destination place where one is going or sth is sent Jaie
bolt flash of lighting aiclo 3,
couple pair Sz o)
corporate common, shared Ao ¢ chio
cyberspace virtual space, Internet & i)
assume suppose, presume 59,5 o ,d
capability ability, skill olls
hookup system having a number of parts designed to el dcgozs

work together




Data Communications Hardware: Making It Hap

pen

transceiver Transmitter/Receiver 0 S g odian 8 ol
plug electrical connector a5-Ligo
latitude angular distance on a meridian north or Sldlp o5
south of the equator
longitude angular distance measured east or west S Job

from the prime meridian

pinpoint locate exactly L yo,S oylal cds b
get around go to different places OO Ay
reservation act of keeping back 995
subordinate someone under the authority of another PRI
complexity complicated quality S Sz

establish set up, found 5958 el eyolgily
handshake shake hand 5ol s




Data Communications Hardware: Making It Happen

generic general S ooges
relieve ease, alleviate ONLES 958 ¢« olo s
duty task il
content component S g
prompt on-screen input oo b dmin
Inquiry exploration, questioning o523l o Bpio
concentrate focus, pay attention 0,5 55 pele
interpret explain, clarify 055 et ey,S S
remote distant, located far away 89
In turn in order Cag &




Data Communications Hardware: Making It Happen

enterprise business , company Slesle
incompatible inconsistent JEgigt
alleviate Relieve, moderate 0055 o5 ¢ 50,5 pl)]

backbone physical infrastructure of the Intern S el s




Protecting Resources

confidence secret; trust oo e
imply indirectly suggest 005 es <Y
Integrity unity LS
snoop pry into the affairs of others, meddle OO e
wiretap electric listening device installed in a room oo 3l ]
or on a telephone line
disruption upset; interruption S ¢ plad
absolutely definitely; completely Mol Lillas
crime illegal act o>
abstract intangible el5l

comprise

include; be composed of

OO JAL:;‘ Q:;.J;\oﬁ)o




Data Communications Hardware: Making It Happen

seldom rarely RPN
overall generally e 43,5 o)
elusive difficult to understand ooisS Jlag!
crucial critical, decisive Cdew sl o
legitimate legal S
saturate soak or fill completely oo, gl
privacy confidentiality Sl S




Language focus |

Giving examples

When the main aim of a text is to inform the reader about a subject, the writer
will often use examples, either to explain a point or to illustrate an idea or

arcument. When givine examnples. it is important to differentiate between the

GLAULLICIIL. VV IIULL 51 Vil VAUV, 10 40 LI pUL DALLU U MEAALE LRILIGLY LY

idea itself and the illustration of the idea.

Some expressions for introducing examples are shown in the table below.

Exercise 1

108

for example (e.g.) examples of shown by
for instance instances of exemplifies
an example (of this) cases of shows
as an example illustrations of illustrates
such as exemplified by a second/third example,
like illustrated by etc.
including seen in
Examples:

1 Office workers use many computer applications such as word processing,
spreadsheets, and databases.

2 Computers have made radical changes in preparing income tax returns. For
example, in some countries you can now send your income tax return on
dick

UL N

3 Students can make good use of computer technology at school. Essay writing,
for instance, can be done using a word-processing program.

Note: Sometimes the markers follow the example, separated by commas, as in 3
above.

The list below is made up of five groups of words, consisting of five main
categories and examples of each category. Find the word groups and then write
sentences to show the relationship between the groups of words. Use a dliferent
marker for each sentence. One has been done for you.

rackball bus PC
mamframe output device star
microcomputer printer VDU
network configuration APL C
programming language COBOL ring
mouse stylus computer

input device

Example:

Ring, bus, and star are all exam

EAVY D) Sy Wi




Exercise 2

[\

w
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Exercise 3

Read the following sentences. Circle the marker and underline the main idea
for which the example is given. The first one has been done for you.

Networks also allow users in one locality to share expensive resources,
printers and disk-systems. (Unit 6)

There are a handful of clipboard con p t now on the market, including
GRIDPad, which is sold in the US; (Un

The PC passes the query, written in
Language SQL), to the mainframe,
the user only the data requested. ([Lm 6}

Here's an example of a simple virus, the Lehigh virus. (Unit 7)
if you use a shared PC or a PC that has public access. such as one in a college

PC lab or a library, be very careful about putting floppies into that PC's drives
without a write-protect tab. (Unit 7)

Not all texts present examples explicitly. In some cases, markers are not used.

n_ .~1 L,‘,.,‘... mesmls baal vy 3
Read tne paragrapn below. Circle the main idea and underli

that idea.

The widespread availability of computers has in all probability changed the
world for ever. The microchip technology which made the PC possible has put
chips not only into computers, but also into washing-machines and cars. Some
books may never be published in paper form, but may only be made available
as part of public databases. Networks of computers are already being used to
make information available on a world-wide scale. (Unit 1)

109



. English for Computer

Science and Engineering

Unit 10



High-Speed Wireless Communication

line-of-sight an imaginary straight line along which an 00 las
observer looks
curvature state of being curved S Saes L]
satellite celestial body revolving around a larger o,lgals
body
eliminate remove, omit OS5 g7 (9,5 Sd>
l[imitation restriction Cadgase
bounce off bounce against and spring back S5 g 00,5 calal
avoid prevent 50,5 ol
obstruction obstacle, impediment Conilos
routinely ordinarily, customarily ol y9b 4
launch send forth 59,5 4l

relay

electronic regulation device

wg.o.a oli‘l..wd l.: oli‘l.m.i‘




High-Speed Wireless Communication

geosynchronous of or having an orbit with a fixed period of ey b pen
24 hours
Expense cost, price PET
tremendous huge, enormous R
capacity capability b b
venue scene or setting of an event axdly Joeo
widespread common, prevalent wols
temporary impermanent By
judge one who chooses the winner in a contest sl
carrier signal transmitted over a telephone line Jol>
when two computers are connected
dedicate devote to ools Lolais]
strict rigid, severe oS ¢ e




Satelite Communications Systems

sophisticated complicated oz g JSioo
track follow a path 595 b s,
aim direct; intend GRS Bam (185 ailis
slight small, unimportant Sk J L8
adjustment tuning BCAT
wander move aimlessly ORI, pw
construction structure sl

utilize

take advantage of , exploit

OO Gl pey e 585 )

radiation

process of emitting

& A
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Explanations and definitions

Texts containing technical terminology frequently contain definitions and
explanations. This is particularly the case if the text is aimed at non-experts or

- N ~§
students of technical subjects, or if the purpose of the text i

specialists about new developments.

Common words and expressions used in definitions or explanations are listed
below.

is/are by ... we mean
means by ... is meant
is taken to be in other words
denotes that is (to say
is/can be defined as

Examples:

1 A computer is an electronic device.

2 Printers are output devices.

3 The term computer refers to the processor plus the internal memory.

4 A microchip can be defined as a tiny piece of silicon or similar material
carrying an integrated circuit.

5 By peripherals we mean those devices attached to the computer.

2 Some definitions and explanations give further distinguishing characteristics

by means of a defining relative clause.

Examples:
1 A computer is an electronic device which/that processes information.
2 Tapes and disks are memory devices which/that can be stored away for

future use.

3 Aprogrammer is a person who/that prepares programs to solve
problems.

4  The arithmetic-logical unit is the part of the CPU where arithmetic and
decision-making operations are done.

Note: The relative pronouns used in this type of definition or explanation will
be who or that for people, when for'a period of time, where for a place or location,

and that or which for things.

Another way of defining or explaining is to use a noun, a noun phrase, or a

clause separated from the rest of the sentence by commas or dashes



Exercise 1

Exercise 2

—

Examples:
1 Computers — electronic devices for processing informatmn are now

243 i1l j
used in practically every aspect of life. (noun phras

2 Turnkey systems, complete hardware/software products which are
ready for use, are available from many suppliers. (clause)

\../

Study the following definitions. A definition usually includes hree parts: the

term to be defined, the group i it hplnngq to, and the characteristics which

distinguish it from other members of the group.

Term Group Characteristics

A core is a ferrite ring which is capable of
being either magnetized
or demagnetized.

Silicon is a non-metallic with semiconductor
element characteristics.

Now analyse the following definitions and identify the different parts:

a by circling the term

b by underlining the group once
c by underlining the characteristics twice.

Example: A computer is a machine with an intricate network of electromc circuits
that operate swztches or magnetlze tmy metallzc cores

Input is the information presented to the computer.

The term ‘computer’ includes those parts of hardware in which calculations
and other data manipulations are performed, and the high-speed interval
memory in which data and calculations are stored during actual executions of
programs.

A ‘system’ is a mixture of integrated parts working together to form a useful
whole.

Large computer systems, or mainframes, as they are referred to in the field of
compulter science, are those computer systems found in computer installations
processing immense amounts of data.

Now read the following sentences, which have all appeared in previous units,
and analyse them in the same way as you did in Exercise 1.

B R oy 1arh

The part ol tne processo
input and output devices is Called he control unit. (Unit 1)

A modem is a device which serves a dual purpose because it acts as a
MOdulator (digital to analog) and a DEModulator (analog to digital) ... (Unit 3)
The compiler is a systems program which may be written in any language, but

+lan 4 :
the compiler’s operating system is a true systems program which controls the

central processing unit (CPU), the input, the output, and the secondary
memory devices. (Unit 4)

A variable is a quantity that is referred to by name, such asa, b, ¢, d, and
average in the above program. (Unit 4)

A WAN is a network connected over long-distance telephone lines. (Unit 6)
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...a LAN is a localized network, usually in one building or in a group of
buildings close together. (Unit 6)

A computer virus — an unwanted program that has entered your system
without you knowing about it — has two parts, which I'll call the infector and
the detonator. (Unit 7)

There are actually two kinds of antivirus programs: virus shields, which detect
viruses as they are infecting your PC, and virus scanners, which detect viruses
once they've infected you. (Unit 7)
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Networks: The WAN, MAN, LAN and TAN

classify categorize OO (s aib
proximity adjacency, vicinity O jglme ¢ (S
disperse scatter, send out Gl §yike ¢ 0 SouiS
encompass surround, enclose O, abl>l e 285 50
suite group of things that together form a set 48 oo
coin invent a new word or phrase OO 6,108 pb ol oo
household domestic establishment S coolgils
associate connect; unite g
vary alter; change OO, pdS




Networks: The WAN, MAN, LAN and TAN

spectrum range of colors b
constrain force, oblige 5058 o
previous earlier, prior kB ¢ i
mention remind of, indicate 0,5 o,lial e oS 83
embed insert, implant SlaE LS
token symbol, sign, mark sl
demonstrate exhibit, present ool e als ol
circulate move around 50, s 5
benevolent generous, kind il ¢ olgSi




Networks: The WAN, MAN, LAN and TAN

contend maintain, assert, compete 00,5 ) (8,8 Lol
fraction part of a whole Coond ¢ iy
relinquish give up, abandon 00,5 S5 eyd,S Hhaid o
topology non-quantitative geometry G5
share apportion S o
spool send a task to memory or disk where it will «sB5e o Ll
be accessed for processing in the future Bge (53w 03D
accomplish complete, perform, execute Ol alil
consolidate unify, merge 59,5 doie




The Trend to Telecommuting

commute exchange , travel back and forth polde 53,5 &8l (0 S JaS
regularly
stockbroker | an agent in the buying and selling of alos Vs
stocks
certify confirm to be true; authorize O0,S By
accountant one who maintains financial records PISCIwES
president head, leader JORW
mayor executive head of a town or city JRSTIV
Interrupt discontinue; disturb 00,5 Byie
discourage show disapproval of 00,5 8 o
reluctant hesitant, unwilling s o




The Trend to Telecommuting

concern

involve; worry

il Copenl ¢ gy S5
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The language of computing in English contains an ever-increasing number of
compound nouns, that is, a group of two or more nouns which act as a single

nouin.

Examples:
memory capacity an address bus an arithmetic unit
information systems a bar code scanner

Itis lmportdnt to be able to recognize how such compounds are formed in order
to understand what they mean.

The exact relationship between the words depends on the particular
expression, but all these expressions have one thing in common: the last word

. .
in the chain says what the thing is, while the preceding word or group of words

ribes the thing. So when we read compound nouns, we have to start with

desc

Lo oot carmnane] mn A varman v lrrararAdg
tllC 1ClDL VVUld d V\/ULI\ bClk_l \/ClLdD.
p 1 .

Examples:

An address bus is a bus dedicated to address information.
The memory capacity of a computer is the capacity of its memory.

A large number of possible meanings can be expressed by compound nouns.
For instance, the first noun or group of nouns can tell us what the second noun
is made of, what it is for, or what it is part of.

Material: the first noun tells us what the second consists of.

a ?1110071 chip (a chip made of silicon)
£,

i {3 i 1 {1,
i Jt’IILLL ring (a ring madac ol 1

Function: the first nour

Examples:
an address bus (a bus dedicated to address information)
an input device (a device for inputting)
an arithmetic unit (a unit which performs arithmetic functions)

Part: the second noun refers to a part of the first noun.

Examples:
computer keyboard (the keyboard of a computer)
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Exercise 1
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Exercise 2

132
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Activity or person: the second noun refers to an activity or person related to the
first noun.

Examples:
computer programming (the programming of computers)
a computer programmer (a person who programs computers)
systems analysis (the analysis of organizational systems)
a systems analyst (a person who analyses organizational systems)

Multiple nouns: sometimes a compound noun will join together with one or

more other nouns to give an expression that has three or four words. In such
cases, it is important to examine the expression very carefully to break it into
its constituent parts. The secret, as always, is to read the expression from the

back towards the front.

Example:
4 3 2 1
a document-image-processing program (a program which processes images of
documents)

N Atas
INUL

AP ACCY Yy TATIAY

y
=t

Example:
document-image-processing program
document image-processing program
document image processing program

However, it is important to be consistent within a single text.

A device that scans bar codes is called a bar code scanner.
What name is given to :

1

a unit that gi

ves a

toiwal
Idudl

<l

a device that reads magnetic cards?

a device that plots graphs?

a device that prints using a laser as the light source?
a unit that holds magnetic disks?

a device that prints using a jet of ink?
the rate of transmission of data?

or making presentations using multimedia?

o

o]
o
e
o
)

)
o
—

the process for the conversion of disks for computers?

Using the explanations in Exercise 1 as models, write short simple explanations
of the following items:



O X NS n

10

a fibre optics transmission system
a sequence control register

a liquid crystal display

network configuration information
a desktop document manager

a multimedia editing software package
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Browsers: The Information Tool

get a taste of

Try, attempt

O3 6,5 4 Cewd

tap use OS5 Golo 0
pull together assemble or get together 09,9150 dS gozme Uy &
frequently regularly, often K9
context environment, background Oy Ao
majority pertaining to or characterized by a o 55|
majority
fortunately luckily Hilieigs
on-demand upon request alaalloce
element main component ke
dominant controlling, commanding bl
facilitate make easy, assist forward 0903 s




Browsers: The Information Tool

hierarchical arranged according to rank s o aeds
accommodate settle, reside ool ools e
emerge appear, come out OO sk
cruise travel, drive aimlessly o) LS
critical important, crucial ey >
affectionately fondly, lovingly bl o0
attribute feature, characteristic S 73




Browsers: The Information Tool

Interactive acting mutually BN
whisk move somewhere quickly ol
bullet round character put at the beginning of a ALy

paragraph for emphasis
submit give in 3055 b 00,5 o
ultimately eventually Lol
apparent obvious, clear ol




Internet Issue

frontier pioneer Al
come along proceed, succeed SR8 ol 9,5 S8ty
inherent intrinsic, natural Sany (ol
mischievous teasing; harmful S35
plague nuisance, annoyance W
disrupt disturb, upset S i 0,5 adaiiie
assault attack 50,5 ales




Internet Issue

plant place seeds in ground esls
disguise hide, conceal Oddgr Joe dal>
entice tempt 50,5 Teel oy )3
explosion outburst sl
conduct direct, manage (55 G d, «33,S Calan
59,5 ol
plenty abundance ol
fraud deceit; cheating & NS
fort defensive structure 9,k T sla>
enterprise business, entire organization Olelus




Internet Issue

restrict confine 5955 Sede
deal take care L ol g
fight battle, combat NEANE
outlandish strange Co € g e
societal pertaining to society slaxa| 4y atuls
barrage bombardment kg
scathe injure or damage by scorching O Oyl
spam junk mail asli; o
junk trash, garbage JlesT




Internet Issue

unsolicited unrequested, uninvited il gz
occasionally sometimes, now and then, every so often, from time oSS
to time
rival compete with, challenge R ponty
towering outstanding, high 45 o oy
pasture a field covered with grass or herbage and suitable for & o

grazing by livestock
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Language focusL

ﬁ

sify

The term ‘classifying’ means arranging objects in classes or groups according
to shared characteristics. For example, the class of ‘animals’ includes all living
thinas that can feel and move about, such as fish and birds. Each of these

LI EAD LUIGL LI 200 QRIRA LU VL QURIRAL, LIl i 11n11 i Ul

subgroups is also a class in its own right, having shared characteristics.

Classifying, then, is a process of bringing order out of confusion by organizing
information in a logical fashion. There are often several ways of classilying the
same information.

From general to specific: focusing on the large or high-level category and
talking about its parts, that is from general to specific, the following expressions

can be used:

is is made up of
can be divided into is composed of
is of comprises

has consists of

A general-to-specific classification will usually have singular main verbs,
unless two or more things are being analysed simultaneously.

amples:

1 The CPU is divided into three parts: the control unit, the arithmetic-logic
unit, and memory.

2 The CPU has three parts: the control unit, the arithmetic-logic unit, and
memory.

3 The CPU is made up of three parts: the control unit, the arithmetic-logic
unit, and memnory.

4  The CPU is composed of three parts: the control unit, the arithmetic-logic

unit, and memory.

The CPU consists of three parts: the control unit, the arithmetic-logic unit,

and memory.

n
BX

U1

2 From specific to general: what the smaller (or lower-level) components make

when they are put together. This kind of classification uses the following
expressions:

make up may be
rr\v-vv'\ ral2% 3l l'\D
101111 valiLL vo
constitute are classified as




Exercise 1

A specific-to-general classification will have plural verbs, because two or more

lower-level categories are the focus of classification.

Examples:

1  The control unit, the arithmetic-logic unit, and memory are the three parts
that make up the CPU.
2 The control unit, the arithmetic-logic unit, and memory are the three parts
that form the CPU.

Using the diagram below, complete the paragraph on the following page.

A Computer system

Primary
memaory Processor

cru ||
Control Arithmetic-logi ;
unit rithmetic-logic unit
|
N |
Register Decoder Counter Clock
{ | |
Reaqisters Bi,n,ary Circuitry
eSS adder
A A
y
Input - Output
Tape Disk drive Terminal Printer Terminal
drive
Y
Secondary
memory
Sequential Random access
Tape Disk
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A computer, has four basic components: input, processor, memory, and
output. The CPU consists of two parts: the Lo -, which directs

and controls the signals and commands inside the processor, and the

2 1.

L
=

—____unit, which does the arithmetic operations and the
“ . . . . 3 .
decision-making operations. While the = R is made up of a
4 3 6
,a N , .a . o ,and a
7 : 8 . 9
T . _,the’ . . .. iscomposedof ... ... .,
10 ii
,and
. 12
In a computer, internal memory or .. . .. refers to the storage
. . . 13
locations inside the computer, whereas . ... refers to the storage
. . . 14 . s .
embodied in the peripherals. may be divided into
13 16 \ 4 17
Y (N ) and -
18 19 .
( ). The = . . devices can be either a
20 21 22
. - Y o ) of ; I

These devices enter information into the computer. After the processor has
operated on it, the z . devices display the results of the
computations on either a o . _era’ . ___ orstore
them on tape or disk for future use.

Refer back to the text on C language (Unit 4, page 46) and complete the
diagram.

Statements

type
declaration
statement
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Platforms: Homes for Software

specifically particularly 039 4 dloguase
typical usual S yors
native inborn, inherent, local 2l o so9
emulate imitate, copy DR RWES
compatibility consistency g
expertise proficiency, skill o >
specialist having specific expertise Laasis
Insight perception, understanding Oy ¢
era period of time 6,33 « pac
obsolete no longer in use & gonia




Platforms: Homes for Software

conform to follow, match, fit oxals cdllas ¢ 48,5 9
fleet collection S8k
entire whole 5 ples
commit perform, execute OB SG e
investment instate &I ale
achieve obtain, attain ools aloil 8l s

Interoperability

ability to work together

bl )18 colls

hassle

bother, inconvenience




Platforms: Tailoring PCs to the Needs of Mobile Workers

tether restrict movement with a rope or chain oo Ll
outlet way out, exit S Zey Slme i),
staple essential element Lol e
meld

blend, merge

GO (Koo pleol

drape across

cover with cloth

Olig a4z bl

forearm superior limb between the elbow and the 93k waeles
wrist
combine unite, join 5955 S 3
paramedic person trained to provide emergency Skl LSy,
medical treatment
symptom sign, indication Caodle
vital

crucial, critical, necessary

ool (Sl




Platforms: Tailoring PCs to the Needs of Mobile Workers

shawl large triangular or rectangular piece of fabric JLs
diagnoses process of identifying conclusions from exams LAiS
miniature tiny Sxss
medic doctor, physician Sy eoamb
trackball input device which includes a ball which may Cypan) Sy o
be spun in order to move the cursor (HbSn 3
strap band, strip Sy O o
palm inner surface of the hand S &S
beam ray of light ¥
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effect
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Understanding the different ways of expressing the relationship between the
causes and the effects of an action is very important when you are reading

I lich Thi
English. This cause—effect relationship is commonly used in texts about
computing.

Before we look at some of the ways of expressing cause and effect, note
carefully this important distinction.

We can mention the cause before the effect.

Example:
(cause) (effect)
Dust often causes the recording condition of disks to deteriorate.

We can mention the effect before the cause.
Example:
(effect) (cause)
Deterioration in the recording condition of disks is often due to dust.
There are many different ways of expressing cause and effect.

1 Verbs linking cause and effect:

result cause
produce result in
allow result from
prevent bring about
enable

Examples:

1 The introduction of computer technology brought about significant changes
in office routines. (cause —» effect)

2 Computers can create artificial objects in their memories. This allows
developers to test product design without actually creating a real prototype.

(cause —» effect)
3 The extensive use of computers in schools is resulting in a new generation of

computer-literate students. (cause —» effect)
4  The problems were caused by the volume of network traffic.* (effect «—
cause)

Note: * See Language focus H for an explanation of the passive used in
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2 Connectives introducing cause:

due to

as the/a result of
since

because

in respo onse to

das

Examples:

1

2

Early computers developed quickly as a result of their use in military
applications. (effect «— cause)

Teachers must rethink their roles as computer technology is creating a
revolution in the classroom. (effect «— cause)

Because off-the-shelf programs do not always fit a company’s needs, software
often has to be specially developed. (effect «— cause)

3 Connectives introducing result:

with the result that
so that

thus

therefore
consequently
hence

for this reason
thereby

Examples:

1

2

if. Both the cause claus

Computers can remove many of the routine and boring tasks, thereby leaving
us with more time for interesting, creative work. (cause — effect)

Carpel tunnel syndrome is a serious medical condition. For this reason,
computer users should be careful of their posture and take frequent breaks.
(cause — effect)

When using an online database service, you must pay for the time you use.
Consequently, you should have a good idea of what you want before you log
on. (cause — effect)

relationship is by introducing the cause with
ct clause verbs are in the present tense.

Examples:

1

2

Exercise 1

n P
nDecdu

people
fi

[
a

Read the following sentences and un

If your company has a LAN, you can share the use of a printer with your
colleagues. (cause —» effect)

It is easy to transport your data to another location if it is stored on a disk.
(effect «— cause)

derline the part which expresses the cause.

J )
1

ter communication, many
ransfer the

ear 10dem an be used 1
can now do their office work on their computer at home and

lesto a computer at the office.
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Exercise 2
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Many people do not explore new software because they are comfortable with

what they already have.

When robots malfunction, it is usually due to mistakes in the programming or
the design.

Laser printers can be quite expensive and are therefore often shared through
networks.

Voice-recognition systems are becoming more sophisticated. Thus, keyboards
may be unnecessary in the future.

Read the following sentences and underline that part which expresses the
effect/result.

Computers can remove many of the routine and boring tasks from our lives,
thereby leaving us with more time for interesting and creative work.

Because there are many different types of printers, you must analyse your
needs before making a purchase.

Since anyone can consult your files on a computer, it is a good idea to protect
sensitive files with a password.

Fax boards are available to plug into your computer, so you do not have to buy
a fax machine.

Computers have been reduced in both size and cost as a result of advances in
design and technology.

The sentences below have appeared in previous units. Read them again and
circle the marker showing a cause—effect relationship and underline the part of
the sentence that expresses the cause. The first one has been done for you.

By 1980, IBM decided there was a market for 250,000 PCs, /90\ they setup a

7 O U, 1131V Ul vivve viavs @ 22

speaal team to develop the first IBM PC. (Unit
j

absolute. (Unit 3)

Global communication and computer networks will become more and more a
part of professwnal and personal lives as the price of microcomputers and

/TT

network access drops. (Unit 6)

One of the features of a computer virus that separates it from other kinds of
computer program is that it replicates itseif, so that it can spread to other
computers. (Unit 7)

...Lehigh is waiting to infect other unsuspecting computers if you boot from one
of those four infected floppies. (Unit 7)

As they became more proficient on the computer, some showed gains in their
overall seif-confidence, as well. (Unit 10}

Robots are better at this task, not because they are faster or cheaper than
humans, but because they work in a place where humans cannot. (Unit 11)
This automatic accuracy is particularly valuable in this kind of industry
because locating and fixing mistakes is costly. (Unit 11)

Artificial worlds are being built up in a computer memory so that people can
walk through at will, look around, and even touch objects. (Unit 12)



. English for Computer

Science and Engineering

Unit 14



Learning to Construct Flowcharts

represent stand for; depict ool iules
stand for be a symbol of 08 o0 led
supply equip; make up for, provide Y
obvious apparent sl ST
envelope paper wrapper of a letter el =S
fold bend 59,5
diamond shape having four equal sides S5
branch division ol
stamp postage stamp JOON;
express declare, clarify O9sed by
odometer device for measuring distance traversed Jeogilylads ylogleS




Learning to Construct Flowcharts

Initialize assign an initial value Sl ol oy ges adgl as lade
comparison contrast 905 dunlie
parallelogram | four-sided plane with the opposite LY 5 l5e
sides parallel
condition situation Sy
conclude make a decision, finish O S azs il (Ll
refine purify, filter O, dkal
coupling linking, joining (S D L
cohesion sticking together, act of uniting e e
affect influence 50,5 il
withhold hold back, refrain from giving O35S (5 Ie0g5 yiils adlas




Learning to Construct Flowcharts

deduct

subtract, reason logically

09,5 Cl;;.’;m\ (30,5 SeS

encourage

support, inspire

OO Brgds




GOTO Considered Harmful

eminent famous, renowned ol s
fiddle with engage in 09 S 50 ¢y3) AlS'g
notably especially; remarkably oy 4 xS iy sk &
transfer move from one place to another, pass on ools Jla!
boost pushing forward B
mess disorder =]
bowl deep dish alS
excessive exceeding normal bounds, extreme o 3ll3l yion Lo a0
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A prediction is a statement about a particular subject in which we say what we
think will happen in the future. Predictions are not always absolute, but can be
SN, DS (Y I BN | A roivtoot 3y varla g

expressed with different levels of certainty, according to the context in which
they are made.

1 Certainty can be expressed by:

will (definitely, certainly)
certain, sure
without a doubt, without question

2 Probability can be expressed by:

probable, probably, likely :
most/highly probable, most probably
most/highly likely

3 Possibility can be expressed by:

may (not), might (not), can, could
possible, possibly, perhaps

4 Improbability can be expressed by:

most/highly improbable/unlikely
most/highly doubtful/questionable
most probably not

5 Impossibility can be expressed by:

present or future past
cannot, could not could not
not possible, impossible not possible, impossible
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These expressions are used in sentences in different ways:

Examples:

1 Notebook computers will definitely be cheaper next year.

2 Itis (highly) probable/likely that notebook computers will be cheaper
next year.

3 Notebook computers may/might be cheaper next year,

4 Perhaps notebook computers will be cheaper next year.

5 Itis unlikely/doubtful that notebook computers will be cheaper next
year.

6  Notebook computers will most probably not be cheaper next year.

7 Notebook computers will definitely not be cheaper next year.

8 It is impossible that notebook computers will be cheaper next year.

Sometimes, predictions are made subject to certain conditions. In such cases,
sentences typically have two parts: the if-clause and the main clause.

Examples:

1 If the price of notebooks fall next year, I will buy one.
2 If the system crashes, we will lose all our latest data.

When the if-clause comes second, there is no comma between the two clauses.

Examples:

1 I will buy a notebook if the price of notebooks fall next year.
2 We will lose all our latest data if the system crashes.

As with the simple predictions listed above, it is possible to express different
levels of certainty about the likelihood of the condition (in the if-clause) by
changing the tense of the verbs from the future and present forms to the more
‘remote’ past and conditional forms.

Twvarminlac.
LXdIILPICY.

1 If the price of notebooks falls next year, I will buy one. (The speaker thinks it
is possible that the price of notebooks will fall next year and, if it does, he
will buy one.)

2 If the price of notebooks fell next year, I would buy one. (The speaker thinks
it is unlikely that the price of notebooks will fall next year but, if it does,
he will buy one.)

3 If the system crashes, we will lose all our latest data. (The speaker thinks it
is possible that the system will crash and, if it does, we will lose all our
data.)

4  If the system crashed, we would lose all our latest data. (The speaker thinks
it is unlikely that the system will crash but, if it did, we would lose all

our data.)
The first form, as in sentences 1 and 3 — [(If + present) + will] —is known as the

r/re

first conditional. The second form, as in sentences 2 and 4 — [(If + past) +
would] — is known as the second conditional.
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Exercise 1

e R ) T

Exercise 2
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Match the if-clauses (1 to 6) to the main clauses (a to f) to make complete

sentences.
If you never read computer a ..you would be able to access our
magazines... bulletin board.
If you never back up your hard b ..itis unlikely that you will have a
disk... problem with computer viruses.
If you had a modem... ¢ ..we would have a bigger range of
typefaces and fonts to choose from.
If you don't copy pirated software... d ...you will miss important new
products.
If I knew more programming e ..Iwould get a better job.
languages...
If we bought a better printer... f ...you will probably lose some
important files
Complete the seniences with the words below. Are the sentences first (F)or
second (S) conditionals?
If you your VDU in direct sunlight, it
damaged.
If you your screen for too long, you a

headache.

install a network.

0 O O C
g

If the market for portable computers

even more next year.

to link your PCs with a mainframe, you

, prices

a fax machine and e-mail facility, we

(] Iwe
many letters each day.
would not post leave
grows will get
will be would need
wanted will be reduc
look at installed

ed

Now make up three first conditional and three second conditional sentences of

your own.



. English for Computer

Science and Engineering

Unit 15



Object-Oriented Software

maintenance support Colo>
modifiability changeability Srdy ol
arguably debatably, disputably Gy B
abandon give up, leave 50,5 S

bode be a sign or omen of ) ods S (D) oo ailas

at the expense of at the sacrifice of Sl @
substantial influential, important g« omols]

flashy showy, tacky ialod




Functional Requirements

performance presentation; execution =l 2l
determine conclude; cause 00,5 s
Inspired motivated 54z 3 alyl
presence attendance S99 ¢ Hga
optimize improve efficiency il
guantify determine quantity oS 50,5 3,5l
reliability trustworthiness NICHFONAE
fault tolerance | ability of a system to continue operating Uz 50y Joodd

In presence of fault
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